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Bl@E| B 5 °c mg/L mg/L mg/L mg/L E mg/L mg/L
1k 8:39 10.8 40 10 10 0.09 1.6 1.5 <0.1 35.3
2 | k| 8:39 10.9 39 13 10 0.06 1.6 1.4 <0.1 35.5
3| K| 8:38 10. 6 39 10 9.9 0.06 1.5 0.9 0.1 35.4
41%| 8:39 10.9 39 12 9.9 0.04 1.7 1.4 <0.1 35.4
5([X| 21:00 10.9 39 69 10 0.05 1.8 1.1 35.3
6B 21:00 11.0 39 10 9.9 0.04 1.7 0.8 34.9
118 8:39 1.2 39 12 9.8 0.04 1.6 0.9 <0.1 35.1
8 | Xk| 8:39 11.6 39 68 9.9 0.03 1.7 1.0 <0.1 35.0
9 [/K| 8:39 12.2 40 n 12 0.04 1.3 0. 1 <0.1 32.8
10| &R| 8:39 1.7 39 69 10 0. 03 1.8 1.0 <0.1 35.0
11|€| 8:36 12.4 40 13 10 0.04 8.0 1.1 <0.1 35.7
12| £ 21:00 11.8 40 12 11 0.04 1.7 1.0 35.2
131 B 21:00 1.2 38 n 9.7 0.05 1.6 1.0 35.1
14| A 8:38 11.6 39 12 9.9 0.03 1.6 1.0 <0.1 34.9
15| k| 8:38 12.8 40 12 13 0.05 1.7 2.5 <0.1 34.6
16[7/K] 8:39 12.4 38 n 11 0.11 1.6 1.5 <0.1 34.9
17| K| 8:38 11.8 38 10 9.8 0.07 1.6 1.1 <0.1 35.0
18| €| 8:39 12.5 38 68 10 0.05 1.8 1.9 <0.1 34.5
191 £ 21:00 11.1 38 68 9.6 0.07 1.6 1.2 34.6
201 8] 21:00 11.5 38 69 9.6 0.04 1.6 1.0 34.6
211 R 8:36 1.7 38 69 9.5 0.04 1.5 1.1 0.1 35.1
22 K| 8:38 11.8 38 67 9.5 0.05 1.7 1.0 0.1 34.6
23| K| 8:38 13.2 38 67 9.9 0.06 1.8 0.9 <0.1 34.7
241 K| 8:39 12.9 38 67 9.7 0.13 1.8 1.0 <0.1 34.7
25| & | 8:38 13.7 38 66 10 0.05 1.4 1.2 <0.1 35.0
26| ] 21:00 13.5 38 68 9.8 0.06 1.4 0.9 34.6
2711 8] 21:00 14.0 38 69 9.8 0.03 1.3 1.3 34.6
28| A 8:39 14.7 38 66 9.9 0.04 1.3 1.1 <0.1 34. 4
29| k[ 21:00 14.0 38 68 9.8 0.05 1.4 1.3 34.6
30| K[ 8:38 14.6 38 69 11 0.06 1.2 0.3 <0.1 33.3
T — 12.2 39 10 10 0.05 1.6 1.1 0.1 34.8
R = — 14.7 40 13 13 0.13 8.0 2.5 0.1 35.7
= & — 10.6 38 66 9.5 <0. 03 1.2 <0. 1 0.1 32.8
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B | & Bi: 5 c mg/L mg/L mg/L mg/L I3 mg/L mg/L
A| 8:38 14.6 38 68 10 0.04 1.5 1.3 0.1 34.6
2 [« 8:38 14.0 38 70 9.6 0.06 1.1 1.7 0.1 35.2
3| 21:00 13.8 37 13 12 0.08 1.3 0.8 30.5
418 21:00 14.0 38 n 11 0.07 1.4 0.4 32.3
5|A| 21:00 14.5 38 n 11 0. 03 1.4 0.7 32.8
6 || 21:00 14.5 38 12 11 0.05 1.4 0.7 32.0
7(XK|[ 8:38 14.9 38 12 9.6 0.15 1.8 3.0 0.1 34.3
8 [A[ 8:38 156.5 38 n 11 0.16 1.4 0.7 0.1 32.7
9[&| 8:38 15.6 38 70 12 0.05 1.2 0.4 0.1 31.7
10]£| 21:00 14.9 38 69 10 0. 03 1.4 1.5 33.5
11]18| 21:00 13.5 38 10 9.5 0.08 1.6 2.3 34.2
12(A| 8:38 156.5 38 12 9.8 0.09 1.6 2.9 0.1 33.6
13| 8:39 156.5 38 68 9.7 0.11 1.1 2.2 0.1 33.9
147k | 8:39 15.8 38 69 11 0.03 1.3 0.6 0.1 32.3
15| K| 8:38 15.8 38 69 9.6 0.11 1.5 2.8 0.1 33.6
16[£| 8:38 16.4 38 n 9.7 0.13 1.4 2.6 0.1 33.2
171 £ 21:00 16.0 37 10 9.6 0.06 1.6 1.6 33.8
18| B | 21:00 14.5 38 70 9.5 0.07 1.4 2.2 34.0
19(A| 8:38 15.1 38 69 9.5 0.08 1.5 1.5 0.1 34.5
20| k] 8:38 16.4 37 68 9.6 0.10 1.4 1.9 0.1 34.2
21| k| 8:39 17.1 37 n 9.5 0.08 1.4 2.4 0.1 34.0
22| K| 8:38 17.0 37 70 9.4 0.10 1.6 2.0 0.1 34.1
23| & 8:38 18.1 37 10 9.7 0.05 1.6 2.1 0.1 34.2
24 £ 21:00 18.4 37 70 9.6 0.05 1.5 1.2 34.3
25(H]| 21:00 16.2 38 13 9.5 0.11 1.5 2.8 34.6
26| 8| 8:38 18.0 37 12 9.9 0.15 1.5 2.9 0.1 34.0
27| k] 8:38 18.3 37 69 9.5 0.07 1.6 1.4 0.1 34.0
28| K| 8:38 17.9 37 12 12 0.04 1.3 0.2 0.1 31.7
20| K| 8:39 17.7 37 10 9.4 0.05 1.5 1.9 0.1 34.7
30|&| 8:39 18.4 37 n 9.6 0.10 1.4 2.0 0.1 34.4
31| 21:00 18.8 38 12 9.8 0.07 1.6 1.7 34.7
T 1 — 16.0 38 10 10 0.08 1.5 1.7 0.1 33.6
5 & - 18.8 38 13 12 0.16 1.8 3.0 0.1 35.2
= K — 13.5 37 68 9.4 0. 03 1.2 0.2 0.1 30.5
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